ERLNZ / Components

No. £ / Part name $E / Pcs #ME / Material & - RELE / Color-Finish
1 IL—L 4 TILSHHH AB063S-T5 DIWIN— , TF9Y « TILIA+ & YT EE
Frame Extruded aluminium A6063S-T5 Silver , black * Anodized & clear coated
2 a—r—Jovy 4 ABS#tiE UL94HB SAETL—, TS5vY
Corner block ABS UL94HB Light gray , Black
3 J—4—F+v7 / Blind plug 8 ISR / TPE FA8FL—, T35V / Light gray , Black
4 INAAFHINTR)L / Slide panel 7 ILEAR / Aluminium A1100P t=1.5 D IWIN—=TF LA / Silver - Anodized
7 JLEHR / Aluminium A1100P t=1.5 T5v% - B% / Black * Painted
5 RLCLEH/NRIL / Screwed panel 1 7 ILEHR / Aluminium A1100P t=1.5 S JLIN—=TF )L AL / Silver * Anodized
7 LR / Aluminium A1100P t=1.5 IS99 - BE / Black - Painted
6 BTE R (M4 x 15 F) 16 #* Zffiyni—k
Screw (M4 — 15 Pan head) Steel Trivalent chromate
7 ERAHE R (M3 x 5 EEF5L) 6 # =i LAvE | ZEE/RA—+
Screw (M3 - 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate

<
o

)
o,’

6
® ]

o >

v N *

& P 2

uh 0 ° o ﬂ
2 \\ N
3
2
) . > S ‘ ﬂ
<
2 Q
1
\E\ 3
4
C ooy
fnda/Title A —1
[TAKACHI] #t&itshFEHTE v hE—LEYS R © L
— Bk (gl'—j?*%m) / Color Type (End of product number[1) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
AL% / Code /3%)L / Panel JL—L / Freme :I_dt_ / Corner 7 E2/Approved #:[X/Checked #X/Created FIFE /Product number RE/Scale

GS < )L7S— / Silver < )LsN— / Silver SA4JL— / Light gray 1:4
BS < )L/S— / Silver < )LsS— / Silver 75v7% / Black . " FC15-50-2501
B X < )LsS— / Silver 759% / Black 75wv7% / Black iR KT w1 - 1/ 7
BB 5594 / Black J5v% / Black 5594 / Black fER. B /Date 2020/12/14




5 tHX , N$R / External View , Internal View

L —L348l / Frame3 side

JL—L118l / Framel side

P
i

&

TJL—L248l / Frame?2 side

A-A(1:5)
INARAFH N ILE RN / Slide panel Max dim. 460

E%h~Ti% / Max dim. 454

LD/ ARILEZ~TiE / Screwed panel Max dim. 454

L — LA / Frame4 side

113.2

150.4

B-B(1:5)

BaTiE / Max dim. 144 <«

o o
et N
= !
. €
r 113.2 £
° o
5 =
Z T
£ | g
s £ 3
T © 2
17 X S
~ = (%2]
S ~
® T I
' R R
2 T ﬂf
BN c X
< <
A =
\ 2

C: 7L —.LY5KE / Frame cross—section

o : =

F+vkL—JL / Nut rail

RSy RE

BFTEAT v & RTARF IS FZ-3 E ANSENHEFET,

Groove for slide nut

Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRARUINTFEHITE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
arvka—JLARYIR
ALUMINIUM CONTROL BOX

o]

752/ Approved 18X /Checked #1[X]/Created
KL AN

RIE /Product number

FC15-50-2501

RE/Scale
1:5

{ERL B /Date 2017/11/27

2 /1




18.1

18.1

8.7

8.7

4.05

19.7
4
N
03
e
o
©
o\
G(L
=
1
N
9
227

13.7

8.2

1.8

5.7

13.7

14.7

149.4

14.7

4-M4

F+vkL—JL / Nut rail

454

L
v

JL—.Ls1 / Framel

<
™~
&
75
R
222 222 5
mnda/Title
TAKACHI| #RRutahFEMITE TL— L] O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame1
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H150.4 - W500 1:2.5
KL AN 3/ 7
{YER B /Date 2017/11/217




A

Py
”

L
v

JL—L2 / Frame2

mmd/Title
BRRUINTFERTE SL—1s2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame2
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H150.4 - W500 125
KT L 4/ 7
1R H/Date 2017/11/27




18.1

18.1

8.7

8.7

4.05

45

19.7
4 13.7
8.2
o <
Q_ pe
1.8
<
»
<
5.7
C\
G(}
EV
Te] ™~
o <
9 13.7
4-M4

22.7

FvykL—JL / Nut rail

2-M3

131.74

JL—L3 / Frame3

17
fc\au

204

mmd/Title
BRRUINTFERTE SL—143 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H150.4 - D250 12
KT L 5 /7
1R H/Date 2017/11/27




& €\
\.

JL—L4 / Frame4

17
fc\au

mmd/Title
MR SHINTEHTE SL— L4 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame4
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H150.4 - D250 12
KT L 6 / 7
1R H/Date 2017/11/27




B~k / Max dim. 210

A TiE / Max dim. 204

INAAFHINH L / Slide panel

B~ i% / Max dim. 460

/N2 JLFKE /Panel Frontside

RLLEH/IRIL / Screwed panel

A%h~Ti% / Max dim. 454

o
>

/I\NAJLERE /Panel Frontside

fREE—MA

Surface protective film side

REE— A

Surface protective film side

1.5 4719
52}
~
N
/I\A)LZEE/Panel Backside
4715
1.5 222 222
6-24.2
AN
IR
/\FJLEEE /Panel Backside
A /Title A —
TAKACHI| #RXettshFEHITE ISR O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7 &R/ Approved 1#[X]/Checked #X/Created R /Product number RE/Scale
W500 - D250 1:4
iR X w1 7,7
e B /Date 2020/09/14




